4974 Z =22 N =27 adopted linkl |[ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 426.847 ( 0.000) MeV

Energy T J+ J- J-other T1/2
49TI 1 | | 0.000 7/2-| 1 STABLE
49TI 2 | | 1.382 3/2-| 2 3.4 PS 4
49TI 3 | | 1.542 11/2- 3 1.00 PS 10
49TI 4 | | 1.586 5/2 3/2-| 4
49TI 5 | | | 1.610 (9/2-) 5
49TI 6 | | | 1.623 (5/2)- 6 37 FS 4
49TI 7 | | 1.723 5/2 1/2-| 7
49TI 8 | | 1.762 5/2-| 8 21.0 FS 19
49TI 9 | | | 2.261 (5/2)- 9 59 FS 17
49TI 10 | | | 2.471 (5/2)- 10 52 FS 17
49TI 11 | 2.504 (5/ 1/2+ | | 11
49TI 12 | | 2.506 15/2- 12
49TI 13 | | | 2.513 5/2,7/2,9/2 13
49TI 14 | | | 2.516 5/2,7/2 14
49TI 15 | | | 2.664 (5/ (3/2)+ 15
49TI 16 | I | 2.721 (11/2+,13/2,15/2 16-)57 FS 27
49TI 17 | | | 2.721 17
49TI 18 | | | 2.980 (7/2-,9/2-) 18 0.13 PS 8
49TI 19 | | |  3.039 (LE 5/2-) 19
49TI 20 | | |  3.043 7/2-,9/2,11/2- 20 24 FS 15
49TI 21 | |  3.175 (5/ 1/2-| 21 54.8 FS 18
49TI 22 | | 3.261 5/2 3/2-1 22 11.2 FS 5
49TI 23 | | | 3.290 (17/2)- 23 0.07 PS LT
49TI 24 | |  3.428 3/2-| 24
49TI 25 | | | 3.451 (7/2-,9/2-) 25
49TI 26 | |  3.469 1/2-1 26
49TI 27 | | 3.511 5/2-| 27
49TI 28 | | | 3.606 (5/2)+ 28
49TI 29 | | 3.618 5/2-| 29
49TI 30 | | | 3.639 30
49TI 31 | | | 3.701 (6/2,7/2,9/2) 31
49TI 32 | | |  3.746 5/2-,7/2- 32
49TI 33 | | | 3.747 + 33
49TI 34 | | | 3.785 5/2-,7/2- 34
49TI 35 | | 3.788 3/2-| 35 16 FS LT
49TI 36 | | | 3.818 36
49TI 37 | | 3.855 5/2-| 37
49TI 38 | I | 3.916 38


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=49Ti 
https://www.nndc.bnl.gov/ensdf/
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S+2p
S+2n
S+alpha

gap p
gap n
gap 2p

| | | 5.796 (3/2-,1/2-) 84
| | 5.861 5/2-| 85
| | | 5.910 - 86
| 5.931 1/2+ | | 87
| | | 5.965 (5/2)- 88
| | 6.010 5/2-1 89
| | | 6.012 3/2+,5/2+ 90
| 6.078 1/2+ | | 91
| | | 6.091 92
| | | 6.125 93
| | | 6.145 94
I | | 6.168 95
| | | 6.231 96
| | |  6.269 97
| | | 6.279 (5/2-) 98
| | | 6.513 99
| I | 7.329 3/2+,5/2+ 100
| | | 7.626 3/2+,5/2+ 101
| 8.133 1/2+ | | 102

8.142 ( 0.000) === mmmm e o
| | | 8.154 1/2-,3/2- 103
| I | 8.156 1/2-,3/2- 104
| 8.160 1/2+ | | 105
| | | 8.164 1/2-,3/2- 106
| 8.178 1/2+ | | 107
| 8.193 1/2+ | | 108
| | | 8.724 5/2-,7/2- 109
| 8.882 7/2+ | | 110 2.29 EV
| | | 8.890 3/2+,5/2+ 111
| | | 9.720 112
11.349 ( 0.005)—————————————————— —

8.142 ( 0.000) === === e o
20.797 ( 0.002)--- -— -—- -
19.769 ( 0.000)———————————————————— -
10.177 ( 0.000) == === == e e e o
= -7.948 ( 0.000)
= -10.939 ( 0.000)
= -17.465 ( 0.000)
= -17.312 ( 0.000)
= -9.149 ( 0.000)

3.401 ( 0.005)

= -2.797 ( 0.000)
= 3.333 ( 0.002)



gap 2n = 2.457 ( 0.001)
gap alpha = 1.028 ( 0.000)



